0000000000 O00O (5/23000)0000
HEN

1 00

L, 00000 CEKOOODUOOOOOUOODOOO0O0ODOOoOooOooo(@on (eval,e, [1,init) 0000000
0000000000000000000000000000000ooOO00n)

eclletzx=1inz+2x3(00000000)000O0O
0000000 (00000000 0o0O0UooOoU0ooOooUoooOO)o

[2013/6/20; DO OO0O0O0OOOO0OUOODOOOOOUOUOOOOOOOODOUODOOOOOOOOUOOOOOO
0000000 Thanks to 000

(eval,let =1 in xz+ 2% 3, [1,init)

— (eval, 1, [1, push((letin,x,z + 2% 3, [1), init))

— (apply, push((letin, z,z + 2 3, [1),init), 1)

(eval,z + 2+ 3, [1[x = 1], init)

(eval, z, [1]x = 1], push((plusl,2 % 3, [1[x = 1]), init))
(apply, push((plusl,2 * 3, [1[x = 1]), init), 1)

(eval,2 % 3, [1[x = 1], push((plus2, 1), init))

(eval, 2, [1[x = 1], push((timesl, 3, [1[x = 1]), push((plus2,1), init)))
(apply, push((timesl, 3, [1[z = 1]), push((plus2, 1), init)), 2)
(eval, 3, [1[z = 1], push((times2,2), push((plus2, 1), init)))
(apply, push((times2, 2), push((plus2,1),init)), 3)

(apply, push((plus2,1),init), 6)

(apply,init,7)

N e A

EN|

ecl (letz=1linlety=2+4inaxy)x3(00000000)0000
0000000 (0000000000000 00O00O0D0OUDOODoOoDOOoOooO)O



(eval,(let x=1inlet y=x+4 in xxy)* 3, [1,init)
— (eval,let © =11in let y =z +4 in z *xy, [1, push((timesl, 3, [1),init))
— (eval, 1, [1, push((letin, z,1let y = x +4 in x x y, [1), push((timesl, 3, [1), init)))
(apply, push((letin,x,let y = x + 4 in z xy, [1), push((timesl, 3, [1),init)), 1)
(eval,let y = x +4 in x x y, [1[x = 1], push((timesl, 3, [1), init))
(eval, z + 4, [z = 1], push((letin,y, x x y, [1[x = 1]), push((timesl, 3, [1),init)))
— (apply, push((letin, y, x x y, [1]x = 1]), push((timesl, 3, [1),init)),5)
eval, z x y, [1[x = 1][y = 5], push((times1,3, [1),init))
eval, z, [1[xz = 1][y = 5], push((timesl,y, [1[x = 1][y = 5]), push((timesl, 3, [1), init)))

(
(
(apply, push((timesl,y, [1[z = 1][y = 5]), push((timesl,3, [1),init)), 1)
(eval,y, [1[z = 1][y = 5], push((times2, 1), push((timesl, 3, [1),init)))
(

N
N
N
.
N
N
N
N
— (apply, push((times2, 1), push((timesl, 3, [1),init)), 5)
.

— (apply, push((timesl, 3, [1), init),5) — 15

ecl (letz=1linletz=z+4inzx3)x3(00000000)0000

(eval,(let z=1inlet z =2z +4 in z % 3) x 3, [1, init)

— e

— (apply, push((timesl, 3, [1[z = 1][z = 5]), push((times1,3, [1),init)),5)

%...%

(apply, push((timesl, 3, [1),init), 15)
(apply, init, 45) — 45

— (eval, z, [1[z = 1][x = 5], push((timesl, 3, [1[x = 1][z = 5]), push((timesl, 3, [1), init)))



